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DIPLOMA IN SECURITY MANAGEMENT (DSM)

Term-~End Examination
June, 2014

BSEI-010 : LAW ENFORCEMENT
Time : 3 hours Maximum Marks : 100

Note : (i) Question No. 1 is compulsory (Part A, B and C).
(i) Question No. 2 Attempt any 7 out of 10.
(iii) Question No. 3 Attempt any 3 out of 5.

PART - A 15x1=15

1. (a) Any person or a security staff may arrest
another person if he commits
cognizable offence.

(b) Any offence for which bail cannot be
granted is called

(c) Confessions can only be recorded by a
It cannot be recorded by

police.

00882

(d) Any assembly of 5 or more persons is called
unlawful assembly if their motive is to
commit an

(e) If a person obstructs an office goer from
proceeding to his office. That person is said
to cause restrains under sec
339.

(f) Theft under sec 378 means taking away
anybody elses property
consent.

(g) Adolescent means a person who has
completed years of age but has
not completed his 18t year of age.
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(h) As a security guard you have brought a
friend of yours without his guardian’s
permission to enrol him in security and he
is below 16 years of age. You have
committed under sec 361.

(i)  Defacing or trying to alter your date of birth
in a certificate amounts to .

() A female visitor must be searched by

(k)  ESI act does not cover .

1) evidence is an evidence
conveyed to you by someone else is called

. It is not admissible.

(m) FIR should be launched as soon as possible
to avoid . Delay in launching
can cause distortion.

(n) Wages to a worker are of two types called
piece rate wages or .

(0) A man is said to have committed

if he has sex with a woman less
than 16 years even with her consent.

PART - B

Mark True or False (T or F) : 5x1=5

(a) A child means a person who has not
completed 14 years of age.

(b)  For every period of 7 days work a worker is
allowed one day rest.

(c)  Workers committee is meant to pass orders
and instruction to workers by the
management.

(d) A labour court consists of two or more
persons.

(e) Reasons for accidents on machines are due
to unsafe acts on the part of worker only.
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3. Attempt any three out of five questions : 10x3=30

(a)  Describe Theft (IPC 378), Robbery (IPC 309)
and Dacoity (IPC 391) bringing out
differences in each.

(b) What are various kinds of arrests and how
they are made ?

(c) What is crowd and mob ? How will you
control them ?

(d) What is the machinery available to settle
industrial disputes ?

() What is the responsibility of security staff
towards management and vice versa ?
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PART - C

Match the following : 4x2=8
(a) Factory Act 1948 (i) Employees Insurance

(b) ESI 1948 (ii) Leave for females

(c) Maternity Benefit Act 1961 (iii) Health and safety

(d) Min Wage Act 1948 (iv) Wages of employees

2. Attempt any 7 questions out of 10 questions : 7x6=42
(a) Write short note on handling of crime scene.

(b) How are arrests made by private person and
by police ?

(c) What is an FIR and what points you will
bear in mind before recording/lodging the
report ?

(d) What is the scope of Factory Act 1948 ?

(¢) Listvarious toxic materials one comes across
in industry. Explain about Lead and
Chromium.

(f)  What are the legal requirements of machine
guards ?

(g) What are the causes of industrial disputes ?
Explain briefly.

(h) What is the objective of laying down
minimum wages ?

(i)  Write briefly the control measures for safety.

() What is the responsibility of security staff
for health and safety ?
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